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 General Intellgence
Direction for question 1 to 3 : Select the related
letters/number/figure from the given alternatives.

ØeMve mebKÙee 1 mes 3 lekeâ kesâ efueS efveoxMe : efoS ieS efJekeâuheeW ceW mes
mebyebefOele De#ejeW/mebKÙee/Deeke=âefle keâes ÛegefveS~
1. Question figures/ØeMve Deeke=âefleÙeeB :

Answer Figures/Gòej Deeke=âefleÙeeB :

2. 3 : 9 :: 6 : ?
(a) 14 (b) 18 (c) 17 (d) 16

3. BADC : XWZY :: FEHG : ?
(a) VXRT (b) TSVU (c) YXCV (d) VSXW

Directions for question 4 to 6 : Find the odd
number/letters from the given alternatives.
ØeMve mebKÙee 4 mes 6 lekeâ kesâ efueS efveoxMe : efoS ieS efJekeâuheeW ceW mes
efJe<ece mebKÙee/De#ej ÛegefveS~
4. (a) Geeta/ieerlee (b) Quran/kegâjeve

(c) Bible/yeeF&yeue (d) Mahabharat/ceneYeejle
5. (a) 7431 (b) 8354 (c) 5410 (d) 6421
6. (a) AEIOU (b) BFJPV

(c) CGKQW (d) DHLRX
Direction for question 7 to 9 : Series is given with one
or more missing term. Choose the correct alternative
from the given ones that will complete the series.

ØeMve mebKÙee 7 mes 9 lekeâ kesâ efueS efveoxMe : Skeâ Deveg›eâce efoÙee ieÙee nw
efpemeceW Skeâ Ùee Skeâ mes DeefOekeâ heo ueghle nw~ efoS ieS efJekeâuheeW ceW mes
Jen mener efJekeâuhe ÛegveW pees Deveg›eâce keâes hetje keâjs~
7. 78, 86, ?, 88, 82, 90

(a) 76 (b) 84 (c) 83 (d) 80
8. ADG, FIL, KNQ, ?

(a) BEH (b) IMB (c) ACG (d) PSW
9. _bcda_cdab_dabc_

(a) cbad (b) abcd (c) bcda (d) abac
10. In a certain code lanuage, ‘REQUEST’ is

written as ‘S2R52TU’. How is ‘RETEST’ written
in that language?

Ùeefo Skeâ ketâš Yee<ee ceW ‘REQUEST’ keâes ‘S2R52TU’ efueKee
peelee nw, lees Gme ketâš Yee<ee ceW ‘RETEST’ keâes efkeâme Øekeâej
efueKee peeSiee?
(a) S2V2RV (b) S2U2RU
(c) S2U2TU (d) S2V2TV

11. Ashok starts from ‘A’ and walk to East to ‘B’.
Then turns South West and walks to ‘C’. Then
he turns South and walks to ‘D’ lastly he turns
East again and walks to ‘E’. Which of the
answer figures is the exact path he has
walked?
DeMeeskeâ ves ‘ ’A  efyebog mes Ûeuee Deewj hetJe& efoMee keâer Deesj Ûeueles ngS
‘ ’B  efyebog hej ieÙee efheâj Jen oef#eCe heefMÛece keâer Deesj cegÌ[keâj ‘C’
efyeog hej ieÙee~ Gmekesâ heMÛeele Jen oef#eCe keâer Deesj cegÌ[keâj ‘ ’D
efyebog hej ieÙee~ Deble ceW Jen hegve:-hetJe& keâer Deesj cegÌ[keâj ‘ ’E  efyebog hej
ieÙee~ veerÛes efoS ieS efÛe$e ceW mes Gmekeâe mener ceeie& keâewve-mee nw~

(a) (b)

(c) (d)

12. Arrange the following words as per the order
int he English dictionary
efvecveefueefKele MeyoeW keâes Deb«espeer MeyokeâesMe ceW efoSieS ›eâce kesâ
Devegmeej efueKeW~
1. Intense 2. Intellect 3. Intend 4. Intelligent
5. Integument
(a) 5, 3, 1, 4, 2 (b) 4, 2, 5, 3, 1
(c) 5, 2, 4, 3, 1 (d) 5, 4, 2, 3, 1

13. Arrange the following words in meaningful
order.
efvecveefueefKele MeyoeW keâes meeLe&keâ ›eâce ceW ueieeSb~
1. Key/kegbâpeer 2. Door/ojJeepee
3. Lock/leeuee 4. Room/keâceje
5. Switch on/Ûeeuet keâjvee
(a) 5, 4, 2, 1, 3 (b) 1, 4, 2, 3, 5
(c) 1, 2, 3, 5, 4 (d) 1, 3, 2, 4, 5

14. Anoop says, ‘Ankit is the son of my father’s
wife’s only son’. How is Ankit related to Anoop?
Devethe keânlee nw, ‘Debefkeâle cesjs efhelee keâer helveer kesâ Skeâueewles yesšs keâe’
yesše nw~ Debefkeâle keâe Devethe mes keäÙee efjMlee nw
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(a) Brother/YeeF& (b) Son/yesše
(c) Uncle/ÛeeÛee (d) Father/efhelee

15. Select the missing number from the given
responses.
efoS ieS efJekeâuheeW ceW mes ueghle Debkeâ keâerefpeS~
23 51 80
31 70 12
43 21 21
16 18 ?
(a) 34 (b) 24 (c) 44 (d) 14

16. Find, at what time between 4 and 5 O' clock,
both hands of a clock will make 180° angle.
4 leLee 5 yepes kesâ yeerÛe ceW IeÌ[er keâer oesveeW megF&ÙeeB 180  keâe keâesCe
keâye yeveeÙesieer~
(a) 5 5

11
 min. past 4 (b) 54 6

11
 min. past 4

(c) 8
2

11
 min. past 4 (d) 10

10
11

 min past 4

Direction for question 17 and 18 : A cubic wood have
been painted with golden colour and then cut and
subdivided into 27 equal cubes. Now, answer the
following questions.

ØeMve mebKÙee 17 Deewj 18 kesâ efueS efveoxMe : Skeâ Ieve Deekeâej Jeeues
uekeâÌ[er keâes meesves kesâ jbie mes jbieee peelee nw Fmekesâ yeeo Fmes keâeškeâj
27 yejeyej ceehe Jeeues Úesšs-Úesšs IeveeW ceW heefjJeefle&le keâj efoÙee ieÙee~
efvecveefueefKele ØeMveeW kesâ Gòej oW~
17. How many cubes are there which have their

three face coloured with golden colour?
Ssmes efkeâleves Ieve nw efpevekeâer leerve melen meesves kesâ jbie mes jbieer nw?
(a) 4 (b) 8 (c) 6 (d) 27

18. How many cubes are there which have their
two opposite face coloured?
Ssmes efkeâleves Ieve nw efpevekesâ oes efJehejerle melen jbieerve nQ?
(a) 0 (b) 1 (c) 12 (d) 6

19. A piece of paper is folded and cut as shown
below in the question figures. From the given
answer figures, indicate how it will appear
when opened.
veerÛes ØeMve Deeke=âefleÙeeW ceW efoKeeS Devegmeej keâeiepe keâes ceesÌ[keâj
keâešves leLee Keesueves kesâ yeeo Jen efkeâme Gòej Deeke=âefle pewmee efoKeeF&
osiee?
Question Figures/ØeMve Deeke=âefleÙeeB :

Answer Figures/Gòej Deeke=âefleÙeeB :

20. Which one is a leap year?

keâewve mee ueerhe Je<e& nw?
(a) 200 (b) 1000 (c) 2000 (d) 1400

21. From the given answer figures, select the one
in which the question figure is hidden/
embedded.
oer ieF& Gòej Deeke=âefleÙeeW ceW mes Gme Gòej Deeke=âefle keâes ÛegefveS efpemeceW
ØeMve Deeke=âefle efveefnle nQ~
Question Figure/ØeMve Deeke=âefle :

Answer Figures/Gòej Deeke=âefleÙeeB :

(a) (b)

(c) (d)

22. If a mirror is placed of the line PQ then which
of the answer figures is the right image of the
given figure?
Ùeefo Skeâ ohe&Ce PQ jsKee hej jKee peeÙes lees oer ieF& Gòej
Deeke=âefleÙeeW ceW mes keâewve-meer Deeke=âefle ØeMve Deeke=âefle keâer mener
Øeefleefyecye nesieer
Questions Figure/ØeMve Deeke=âefle :

Answer Figures/Gòej Deeke=âefleÙeeB :

(a) (b)

(c) (d)

23. How many square are there in the given
figure?
oer ieF& Deeke=âefle ceW efkeâleves mece ÛelegYeg&pe nQ?

(a) 54 (b) 100 (c) 152 (d) 154
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24. Which answer figure will compelte the
question figure.
keâewve-meer Gòej Deeke=âefle ØeMve Deeke=âefle kesâ Øeefle™he keâes hetje keâjsieer
Questions Figure/ØeMve Deeke=âefle :

Answer Figure/Gòej Deeke=âefleÙeeB :

25. A word is represented by only one set of
numbers as given in any one of the
alternatives. The sets of numbers given in the
laternatives are represented by two classes of
alphabets as in the matrix given below. The
columns and rows of Matrix-I are numbered
from 0 to 4 and that of Matrix-II from 5 to 9. A
letter from the matrix can be represented first
by its row and next by its column., e.g., ‘B’ can
be represented by 02, 11, etc. and ‘N’ can be
represented by 56, 65, etc. Similarly, you have
to identity the set for the word ‘WARD’
Skeâ Meyo kesâJeue Skeâ mebKÙee-mecetn Éeje oMee&Ùee ieÙee nw, pewmee
efkeâ efJekeâuheeW ceW mes efkeâmeer Skeâ ceW efoÙee ieÙee nw~ efJekeâuheeW cebs efoS
ieS mebKÙee mecetn, De#ejeW kesâ oes JeieeX Éeje oMee&S ieS nQ, pewmeeefkeâ
veerÛes efoS ieS cewefš̂keäme ceW nw~ cewefšk̂eäme-I kesâ mlecYeeW Deewj hebefkeäleÙeeW
keâer mebKÙee 0 mes 4 oer ieF& nw Deewj cewefšk̂eäme-II keâer 5 mes 9~
cewefšk̂eäme mes Skeâ De#ej keâes henues Gmekeâer hebefkeäle Deewj efheâj mlecYe
mebKÙee Éeje yeleeÙee pee mekeâlee nw~ GoenjCe kesâ efueS ' 'P  keâes 02,
11 Deeefo Éeje yeleeÙee pee mekeâlee nw leLee ' 'N  keâes 56, 65 Deeefo
Éeje yeleeÙee pee mekeâlee nw~ Fmeer lejn mes Deehekeâes Meyo kesâ efueS
mebKÙee mecetn ‘WARD’ keâes henÛeevevee nw~

MATIRX-I MATIRX-I

0 1 2 3 4 5 6 7 8 9

0 W O B R I 5 D N A M L

1 O B R I W 6 N A M L D

2 B R I W O 7 A N L D N

3 R I W O B 8 M L D N A

4 I W O B R 9 L D N A M

(a) 32, 75, 44, 76 (b) 14, 89, 12, 78
(c) 23, 52, 36, 68 (d) 41, 66, 23, 25

General Awareness
26. The 'World Economic Outlook Report' is

released by-
‘Jeu[& Fkeâe@veesefcekeâ DeeGšuegkeâ efjheesš&’ keâewve peejer keâjlee nw?
(a) World Bank/ eqJeÕe yeQkeâ

(b) International Monetary Fund/Devleje&<š^erÙe cegõe keâes<e
(c) Asian Development Bank/SefMeÙeeF& efJekeâeme yewkeâ
(d) International Labour Organization/Devleje&<š^erÙe

cepeotj mebIe
27. ‘Maitri Express' railway service is related

with-
‘cew$eer SkeämeØesme’ jsue mesJee keâe mecyevOe efkeâmemes nw?
(a) India-Pakistan/Yeeejle-heeefkeâmleeve
(b) India-Bangladesh/Yeejle-yeebiueeosMe
(c) India-Nepal/Yeejle -vesheeue
(d) India-Bhutan/Yeejle-Yetševe

28. In which of the following regions are Pygmies
found?
efvecveefueefKele ceW mes efkeâme ØeosMe ceW efheiceer heeS peeles nw?
(a) Sahara/meneje
(b) Kalahari/keâeueenejer
(c) Equatorial forest/efJe<eJelejsKeerÙe Jeve
(d) Pampas/hecheeme

29. Khusrau was the son of which Mughal
emperor?
Kegmejes efkeâme cegieue yeeoMeen keâe heg$e Lee?
(a) Akbar/Dekeâyej
(b) Jahangir/peneBieerj
(c) Shah Jahan/MeenpeneB
(d) Bahadur Shah I /yeneogjMeen ØeLece

30. What is the base of Human Development
Index?
ceeveJe efJekeâeme metÛekeâebkeâ keâe DeeOeej keäÙee nw?
(a) Health, education, employment, standard of

living/ mJeemLÙe, efMe#ee, jespeieej, peerJeve mlej
(b) Health, education, employment/mJeemLÙe, efMe#ee,

jespeieej
(c) Health, education, standard of living/mJeemLÙe, efMe#ee,

peerJeve mlej
(d) Education, standard of living, employment/efMe#ee,

peerJeve mlej, jespeieej
31. The second five year plan was based on which

model?
efÉleerÙe hebÛeJe<eeaÙe Ùeespevee efkeâme cee@[ue hej DeeOeeefjle Leer?
(a) Solow model/meesuees cee@[ue
(b) Domor Model/[escej cee@[ue
(c) Robinson's Model/jeefyevmeve cee@[ue
(d) Mahalanobis/ceneueeveesefyeme cee@[ue

32. The payment of foreign trade is related with-
efJeosMeer JÙeeheej keâe Yegieleeve mecyeefvOele nw-
(a) The merits of import/DeeÙeele kesâ iegCeeW mes
(b) The merits of export/efveÙee&le kesâ iegCeeW mes
(c) The multiplier of foreign trade/efJeosMeer JÙeeheej iegCekeâ

mes
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(d) Balance of payment/Yegieleeve meblegueve mes
33. The place where accessories are connected in

computer is known as-
keâchÙetšj ceW peneb Ssmesmejerpe pegÌ[leer nQ Gmes keânles nQ-
(a) Port/heesš& (b) Ring/efjbie (c) Bus/yeme(d) Zip/efpehe

34. The writer of 'Bikhare Moti' is-
‘efyeKejs ceesleer’ kesâ jÛeefÙelee nQ-
(a) Muktibodh/cegefòeâyeesOe
(b) Agyeya/De%esÙe
(c) Subhadra Kumari Chauhan/megYeõe kegâceejer Ûeewneve
(d) Dinker Sonwalker/efovekeâj meesveJeuekeâj

35. Bauxite is the ore of-
yee@keämeeFš efkeâmekeâer keâÛÛeer Oeeleg nw?
(a) Iron/ueesne
(b) Zinc/efpebkeâ
(c) Tin/efšve
(d) Aluminimum/SuÙegefceefveÙece

36. Dynasty famous for efficient rural
administration was-
kegâMeue «eeceerCe ØeMeemeve kesâ efueS Øeefmeæ jepeJebMe Lee-
(a) Cholas/Ûeesue (b) Rashtrakutas/je<š^ketâš
(c) Chalukyas/ÛeeuegkeäÙe (d) Pallavas/heuueJe

37. FTP stands for-
Sheâ.šer.heer. keâe hetje veece nw-
(a) File Translate Protocol/heâeFue š^ebmeuesš Øeesšeskeâe@ue
(b) File Transit Protocol/heâeFue š^ebefmeš Øeesšeskeâe@ue
(c) File Typing Protocol/heâeFue šeFefhebie Øeesšeskeâe@ue
(d) File Transfer Protocol/heâeFue š^ebmeheâj Øeesšeskeâe@ue

38. Who among the following is not related with
the philosophy of 'Vedanta'?
efvecve ceW mes efkeâmekeâe mecyebOe ‘Jesoevle oMe&ve’ kesâ meeLe veneR nw?
(a) Shankarcharya/MebkeâjeÛeeÙee&
(b) Abhinav Gupt/DeefYeveJe ieghlee
(c) Ramanuja/jeceevegpe
(d) Madhava/ceeOeJe

39. Halophytes grow well in-
nwueesheâeFšdme DeÛÚer Je=efæ keâjles nQ-
(a) Acidic soils/ DecueerÙe ce=oe ceW
(b) Cold soils/ "b[er ce=oe ceW
(c) Soils containing calcium/kewâefuMeÙece Ùegòeâ ce=oe ceW
(d) Saline soils/#eejerÙe efceóer ceW

40. Bangladesh was established as an
independent nation after the Indo- Pakistan
was of-
Yeejle-heeefkeâmleeve kesâ efkeâme Ùegæ kesâ he§eeled yeebiueeosMe Skeâ mJelev$e
je<š^ kesâ ™he ceW mLeeefhele ngDee Lee?
(a) December 1970 (b) March 1970
(c) March 1971 (d) December 1971

41. Which of the following is not a harbour?

efvecveefueefKele ceW mes keâewve-mee heesleeßeÙe veneR nw?
(a) Cochin/keâesefÛeve (b) Bengaluru/yeWieueg™
(c) Mangalore/cewieueesj (d) Kandla/keâeb[uee

42. From which veda Sanskrit Literature began?
mebmke=âle meeefnlÙe keâe ØeeogYee&Je efkeâme Jeso Éeje ngDee-
(a) Yajurveda/ÙepegJexo (b) Atharvaveda/DeLeJe&Jeso
(c) Samveda/meeceJeso (d) Rigveda/$e+iJeso

43. The 'Directive Priciples' are what?
‘efveoxMekeâ lelJe’ keäÙee nw?
(a) Justiciable/Jeeo ÙeesiÙe
(b) Non-Justiciable /DeJeeo ÙeesiÙe veneR
(c) Rigid/keâ"esj
(d) Flexible/ueÛeerues

44. How many players are in a Kho-Kho team?
Kees-Kees Kesue ceW Skeâ šerce ceW efkeâleves efKeueeÌ[er nesles nw?
(a) 11 (b) 7 (c) 12 (d) 9

45. Who is considered as the inventor of WWW-
World Wide Web?
[yuÙet.[yuÙet.[yuÙet-Jeu[& JeeF[ Jesye kesâ DeeefJe<keâejkeâ keâewve ceeves
peeles nw?
(a) Edward Kasner/S[Je[& keâemevej
(b) Bill Gates/efyeue iesšdme
(c) Tim Bernerslee/efšce yeve&me&vueer
(d) Vinod Dham/efJeveeso Oeece

46. Dengue is a fever caused and transmitted to
other human by-
[Wiet Skeâ yegKeej nw, pees GlheVe neslee nw leLee otmejs ceveg<Ùe ceW hengbÛelee
nw-
(a) Virus and female Aedas mosquito/JeeÙejme Deewj ceeoe

S[erpe ceÛÚj Éeje
(b) Bacteria and female culex mosquito/yewkeäšerefjÙee Deewj

ceeoe keäÙetueskeäme ceÛÚj Éeje
(c) Fungus and female Aedes mosquito/hebâieme Deewj ceeoe

S[erpe ceÛÚj Éeje
(d) Protozon and female a Anopheles

mosquito/ØeesšeWpeesDeve Deewj ceeoe Ssveesefheâueerpe ceÛÚj Éeje
47. The equator does not pass through which of

the following countries?
YetceOÙejsKee efvecveefueefKele ceW mes efkeâme osMe mes neskeâj veneR iegpejleer
nw?
(a) Kenyha/kesâvÙee (b) Mexico/cesefkeämekeâes
(c) Indonesia/FC[esvesefMeÙee (d) Brazil/yeÇepeerue

48. The Consultative Committee of members of
Parliament for railway zones is constituted by
which of the following?
jsueJes peesve kesâ efueS mebmeo meomÙeeW keâer meueenkeâej meefceefle
efvecveefueefKele ceW mes efkeâmekesâ Éeje ieef"le keâer peeleer nw?
(a) President of India/Yeejle kesâ je<š^heefle
(b) Ministery of Railways/jsue ceb$eeueÙe
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(c) Ministry of Parliamentary Affairs/mebmeoerÙe ceeceueeW keâe
ceb$eeueÙe

(d) Ministry of Transport/heefjJenve ceb$eeueÙe
49. Who has won the 2016 presidential election of

the Republican of Ghana?
Ieevee ieCejepÙe keâe 2016 keâe je<š̂heefle ÛegveeJe efkeâmeves peerlee nw?
(a) Paa Kwesi Nduom/hee@ keâJesmeer v[eGce
(b) Ivor Green street/DeeFJeesj «eervemš^erš
(c) John Dramani Mahama/peesnve [^eceeveer ceenecee
(d) Nana Akufo-Addo/veevee Dekegâheâes-Deñes

50. The world's largest seating capacity cricket
stadium will come up in which state of India?
efJeÕe keâe meyemes yeÌ[e yew"ves keâer #ecelee Jeeuee ef›eâkesâš cewoeve Yeejle
kesâ efkeâme jepÙe ceW nesiee?
(a) Gujrat/iegpejele (b) West Bengal/he.yebieeue
(c) Karnataka/keâveeškeâ (d) Tamilnadu/leefceuevee[g

Maths
51. In an examination , it is required to get 523

marks to pass. A student gets 439 marks and is
declared failed. The difference at marks
obtained by the student and that required to
pass is 7%. What are the maximum aggregate
marks a student can get?
Skeâ hejer#ee ceW, GòeerCe& nesves kesâ efueS 523 Debkeâes keâer pe™jle nw~
Skeâ efJeÅeeLeea keâes 439 Debkeâ Øeehle ngS efpemekesâ heâuemJe™he Jen
DevegòeerCe& Ieesef<ele nes ieÙee~ Ùeefo Gmekesâ Éeje Deefpe&le Debkeâ Deewj
GòeerCe& nesves nsleg vÙetvelece DeeJeMÙekeâ Debkeâes ceW 7% keâe Deblej nw, lees
Skeâ efJeÅeeLeea Éeje Øeehle efkeâÙee pee mekeâves Jeeues DeefOekeâlece efkeâleves
Debkeâ nw?
(a) 1000 (b) 1100 (c) 1400 (d) 1200

52. A person buys some article. He selles 2
3

rd of

them at 16% profit, 1
5

th of them at 30% profit

and reamining at 10% profit. What is his
percent profit in the whole transaction?

Skeâ Deeoceer kegâÚ Jemleg Kejerolee nw~ Jen Gmekeâe 2
3
 Yeeie 16%

ueeYe 1
5
 Yeeie 30% ueeYe hej Deewj Mes<e 10% ueeYe hej yesÛelee nw~

lees hetjs uesve osve ceW Gmes kegâue efkeâlevee ueeYe ngDee?
(a) 19% (b) 20% (c) 18% (d) 17%

53. A cycle dealer offers a discount of 10% and still
makes a profit of 35%. What does he pay for a
cycle whose marked price is Rs. 486?
Skeâ meeFefkeâue efJe›esâlee 10% keâer Útš oslee nw~ Deewj efheâj Yeer 35%
keâe ueeYe keâceelee nw~ Ùeefo meeFefkeâue keâe Debefkeâle cetuÙe ™ 486
nes,lees Jen meeFefkeâue efkeâleves ®heÙes kesâ Yegieleeve kesâ yeeo Kejeroer
peeleer nw?
(a) Rs. 320 (b) Rs. 350 (c) Rs. 330 (d) Rs. 324

54. The compound interest on a sum of Rs. 25000 at
16% per annum for 9 months when interest is
compounded quarterly is-
™ 25000 keâer jeefMe hej 16% Jeeef<e&keâ yÙeepe keâer oj mes 9 ceen
keâe Ûe›eâJe=efæ yÙeepe keäÙee nesiee,Ùeefo yÙeepe efleceener DeeOeej hej
heefjkeâefuele efkeâÙee peelee nw?
(a) Rs 3000 (b) Rs. 3200.4
(c) Rs. 3121.6 (d) Rs. 2400.6

55. Two vessels contain milk and water in the
ratio 3 : 1 and 14 : 3. Find the ratio in which the
contents of the two vessels have to be mixed to
get a new mixture in which the ratio of milk
and water is 4 : 1
oes yele&veeW ceW otOe Deewj heeveer keâe Devegheele 3 :1 Deewj 14 :3 nw~ efkeâme
Devegheele cebs oesveeW efceßeCeeW keâes efceueeÙee peeS leeefkeâ veS efceßeCe ceW
otOe Deewj heeveer keâe Devegheele 4:1 Øeehle nes?
(a) 8 : 17 (b) 17 : 8 (c) 14 : 13(d) 2 : 3

56. Ranveer and Katerina have their monthly
incomes in the ratio 9 : 7 while their monthly
expenditures are in the ratio 4 : 3. If they have
saved Rs 1500 and Rs. 2000 respectively, then
the difference in their monthly income is-
jveJeerj Deewj kewâšjervee keâer ceeefmekeâ DeeÙe keâe Devegheele 9 :7 nw,
peyeefkeâ Gvekeâe ceeefmekeâ JÙeÙe 4 :3 kesâ Devegheele ceW nQ~ Ùeefo Gvnesves
›eâceMe: ™ 1500 Deewj ™ 2000 keâer yeÛele keâer nes, lees
Gvekeâer ceeefmekeâ DeeÙe ceW efkeâlevee Deblej nw?
(a) Rs. 3500 (b) Rs. 7000
(c) Rs. 8000 (d) Rs. 6000

57. A can do a job in 12 days and B can do the same
job in 18 days. They start working together but
A leaves after 4  days. In how many more days
B will finish the remaining work?
A efkeâmeer keâeÙe& keâes 12 efoveeW ceW Deewj B Gmeer keâeÙe& keâes 18 efoveeW ceW
keâj mekeâlee nw~ Gvnesves meeLe keâeÙe& keâjvee Meg™ efkeâÙee efkebâleg A ves 4
efoveeW kesâ yeeo keâeÙe& keâjvee ÚesÌ[ efoÙee~ Deye B efkeâleves efoveeW ceW Mes<e
keâeÙe& keâes hetje keâjsiee?
(a) 81

3
 days (b) 10 days (c) 6 days (d) 8 days

58. Pipe A can fill a tank in 4 hours and pipe B can
fill the tank in 6 hours. If pipe A is opened at 7 :
00 am and pipe B is opened at 8 : 00 am, then at
what time will the tank be full?
heeFhe A efkeâmeer šQkeâ keâes 4 Iebšs ceW Yej mekeâleer nw~ heeFheB šQkeâ keâes
6 Iebšs ceW Yej mekeâleer nw~ Ùeefo heeohe A,7 yepes hetJee&Ü Keesuee peelee
nw~ Deewj heeFhe B,8 yepes hetJeeËn Keesuee peelee nw~ lees efkeâleves yepes
šQkeâ hetjer lejn Yej peeSiee?
(a) 10  : 00 am (b) 8 : 48 am
(c) 9 : 40 am (d) 9 : 48 am

59. A man travelled a distance of 160 km in 8
hours, partly on bicycle at the rate of 16 km per
hour. The distance travelled by riding is-
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Skeâ JÙeefòeâ 160 efkeâceer keâer otjer keâes 8 Iebšs ceW leÙe keâjlee nw~ FmeceW
mes DeMeble: meeFefkeâue kesâ Éeje 16 efkeâceer/Iebše keâer ieefle mes leLee Mes<e
otjer IegÌ[meJeejer Éeje 32 efkeâceer/Iebše keâer ieefle mes Ûeuekeâj leÙe
keâjlee nw~ IegÌ[meJeejer Éeje leÙe keâer ien& otjer nw-
(a) 60 km (b) 64 km (c) 96 km (d) 80 km

60. If the product of two positive numbers is 2016
and their ratio is 8 : 7 , then the sum of the
numbers is-
oes Oeveelcekeâ mebKÙeeDeeW keâe iegCeveheâue 2016 nes Deewj Gvekeâe
Devegheele 8 :7 nes, lees mebKÙeeDeeW keâe Ùeesie %eele keâjW~
(a) 80 (b) 85 (c) 90 (d)96

61. If x 2 then the value of x x x3 224 241 324
is-
Ùeefo x 2 nes, lees x x x3 224 241 324 keâe ceeve nw-
(a) 1024 (b) 910 (c) 920 (d) 1728

62. If 5 1
2

2x
x

, then find the value of

8 1
125

3
3

x
x

.

Ùeefo 5 1
2

2x
x

 nes, lees 8 1
125

3
3

x
x

keâe  ceeve %eele keâjW~

(a) 50
47

(b) 52
125

(c) 56
125

(d) 56
125

63. In the given figure OQR 74   and
OPR 23   , then the value of POQ is-

oer ieF& Deeke=âefle ceW OQR 74  Deewj OPR 23 nw, lees
POQ keâe ceeve %eele keâjW~

(a) 50  (b) 51  (c) 55  (d) 52 

64. In a right angled
ABC ABC BN AC AB, , ,90 12  cm and
AC 20 cm, then AN NC:  is
mecekeâesCe ABC ABC BN AC AB, , ,90 12  mesceer
DeewjAC 20 mesceer lees AN NC: keâe ceeve %eele keâjW~
(a) 3 : 4 (b) 9 : 16 (c) 16 : 9 (d) 3 : 5

65. The average of the first and second of three
numbers is 12 more than the average of second
and the third of these numbers. What is the
difference between the first and the third of
these three numbers?
leerve mebKÙeeDeeW ceW henueer Deewj otmejer mebKÙee keâe Deewmele otmejer leLee
leermejer mebKÙee kesâ Deewmele mes 12 DeefOekeâ nw~ lees Fve leerveeW mebKÙeeDeeW
ceW henueer Deewj leermejer mebKÙee keâe Devlej keäÙee nw?
(a) 25 (b) 30 (c) 26 (d) 24

66. Rs. 22,500 is divided among A B,  and C so that A
receives one half as much as B and C together
and B recievies one fourth of what A and C
together recieve. The share of A is more than
that of B by-
™ 22, 500 keâer jeefMe keâes A B,  Deewj C ceW Fme Øeskeâej yeebše ieÙee
efkeâ A keâe efnmmee B leLee C kesâ kegâue efnmmes keâe 1

2
 nes leLee B keâe

efnmmee A leLee C kesâ kegâue efnmmeeW keâe nes leLee 1
4
 nes lees %eele keâjW

efkeâ A keâe efnmmee B kesâ efnmmes mes efkeâlevee DeefOekeâ nw?
(a) Rs 3000 (b) Rs. 4000 (c) Rs. 4500(d) Rs. 1500

67. If cos 1
2

1p
p

 then, cos 2  will be equal to?

Ùeefo cos 1
2

1p
p

 lees cos 2  keâe ceeve keäÙee nesiee?

(a) 2 (b) p 1
2

(c) p
p

2
2

1 (d) 1
2

12
2

p
p

68. In ABC A B, ,90 30  . Find the ratio of
the sides of given triangle.
ABC A B, ,90 30   nes, lees ef$eYegpe keâer YegpeeDeeW

keâe Devegheele %eele keâjW~
(a) 2 31: : (b) 2 13: : (c) 1 2 3: : (d) 2 1 3: :

69. The angle of elevation of an aeroplane from a
point on the ground is 60  . After 20 sec flight,
the elevation changes to 30  . If the aeroplane
is flying at a height of 3600 3 meters, find the
speed of the aeroplane.
efkeâmeer nJeeF& penepe keâe GVeÙeve keâesCe hej #eweflepe efmLele efyevog mes
60   nw~ 20 meskeâC[ keâer GÌ[eve kesâ yeeo GVeÙeve keâesCe 30   nes
peelee nw~ Ùeefo nJeeF& penepe 3600 3 ceeršj keâer TBÛeeF& hej GÌ[
jne nes, lees nJeeF& penepe keâer Ûeeue efkeâceer Øeefle Iebše ceW %eele keâjW~
(a) 1290 km/h (b) 1296 km/h
(c) 1320 km/h (d) 1400 km/h

70. If the volume of a right circular cylinder is
144 h cm 3 , where h is its height (in cm), then
the diameter of the base of the cylinder is
equal to?
efkeâmeer yesueve keâe DeeÙeleve 144 h mesceer 3  nw peneB h  yesueve keâer
TBÛeeF& (mesceer ) ceW nw~ lees yesueve kesâ DeeOeej keâe JÙeeme %eele keâjW~
(a) 24 cm (b) 18 cm (c) 36 cm (d)20 cm

71. The base of prism is in the form of right angle
isosceles triangle, whose hypotenuse is r and
the height of prims is s cm. Find the volume of
prims.
efkeâmeer efØepce keâe DeOeeje mecekeâesCe meceefÉyeeng ef$eYegpe nw~ efpemekeâe
keâCe& r leLee efØepce keâer TBÛeeF& mesceer nes, lees efØepce keâe DeeÙeleve %eele
keâjW~
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(a) r
2

4
 cm 3 (b) rs cm 3 (c) r s

2

2
 cm 3(d) r s2  cm 3

72.
Find the value of 4 137 43 28 64

4 137 43 28 64  keâe ceeve %eele keâjW~
(a) 2 (b) 4 (c) 3 (d) 8

Directions for questions 23 to 25 : Study the
following bar diagrams and tables carefully to
answer the questions.

ØeMve mebKÙee 23 mes 25 kesâ efueS efveoxMe: efvecveefueefKele ØeMveeW keâe
Gòej osves kesâ efueS veerÛes efoÙes ieS oC[ DeejsKe SJeb meejCeer keâe
meeJeOeeveerhetJe&keâ DeOÙeÙeve keâjW~

73. What is the number of male employees taking
all the companies together?
meYeer kebâheefveÙeeW keâes efceueekeâj heg®<e keâce&ÛeeefjÙeeW keâer mebKÙee keäÙee
nw?
(a) 1600 (b) 1500 (c) 1550 (d) 1150

74. What is the average number of female
employees taking all the companies together?
meYeer kebâheefveÙeeW ceW efceueekeâj ceefnuee keâce&ÛeeefjÙeeW keâer Deewmele mebKÙee
keäÙee nw?
(a) 200 (b) 160 (c) 180 (d) 188

75. By what number of male employees working in
companies A and C more than that of female
employees working in companies B and D?
kebâheveer A SJeb C ceW keâeÙe&jle heg®<e keâce&ÛeeefjÙeeW keâer mebKÙee kebâheveer B
SJeb D ceW keâeÙe&jle ceefnuee keâce&ÛeeefjÙeeW keâer mebKÙee mes efkeâleveer
DeefOekeâ nw?
(a) 280 (b) 340 (c) 440 (d) 310

English Comprehension and
Language

Direction for questions 1 to 3 : In each of the following
questions, one part of the sentence has an error and
the otehr parts of the sentence are correct. Find out
which part of the sentence has an error and mark that
part as your answer out of (a), (b) and (c). If a sentence
is free from error, then choose your answer as choice
(d).
76. The concentration of human and material resources

at a few centres (a)/have resulted in (b)/large scale
migration of rural population to urban areas. (c)/No
error (d)

77. The principal forbade us (a)/not to use (b)/the entire
hall (c)/No error (d)

78. Neither Raj nor his brother (a)/is willing to shoulder
the responsibility (b)/of caring for their old parents.
(c)/No error (d)

Directions for questions 4 to 6 : Sentences are gien
with blanks to be filled in with an appropriate word(s).
Four alternatives are suggested for each question.
Chooe the correct alternative out of the four.
79. The Minister assured the flood victims ………

all possible help.
(a) to (b) with (c) of (d) for

80. This dress is ……… for me to wear.
(a) too dirty (b) dirtier
(c) not clean (d) so dirty

81. His work is not connected ……… the Education
Ministry but with the Labour Ministry.
(a) with (b) to (c) by (d) against

Direction for questions 7 & 8 : Out of the four
alternatives, choose the one which best expressed the
meaning of the given word.
82. Plebeian

(a) Commoner (b) Noble
(c) Peasant (d) Aristocrat

83. Onus
(a) Antipathy (b) Inclination
(c) Responsibility (d) Prudence

Directions for questions 9 to 10 : Out of the four
alternatives, choose the word opposite in meaning to
the given word.
84. Perfidious

(a) Treacherous (b) Punic
(c) Honourable (d) Insidious

85. Glide
(a) Lapse (b) Standstill
(c) Movement (d) Effort

Directions for question 11 to 13 : Four alternatives are
given for the Idiom/Phrase underlined in the sentence.
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Choose the alternative which best expresses the
meaning of the Idiom/Phrase.
86. Sometimes it’s good to call a spade a spade, but

sometimes it’s better to be more diplomatic in
what you say.
(a) Say something which is to be taken seriously
(b) be outspoken in language
(c) tell the truth in a straight forward and direct way
(d) find meaning or purpose in action

87. Our principal is not a man to mince matters.
(a) to confuse issues
(b) to say something mildly
(c) to mix everything together.
(d) to be very modest.

88. Indian princess were disunited and
belligerent. The English fished in troubled
water and conquered all the states.
(a) to take advantage of the situation
(b) to take revenge
(c) to survive
(d) to understand thoroughly

Directions for question 14 to 16 : A part of the
sentence is underlined. Below are given alternatives
to the underlined part at (a), (b), (c) which may improve
the sentence. Choose the correct alternative. In case
no improvement is required, your answer is (d)
89. His lecture was banned because of the bandh.

(a) called off (b) disturbed
(c) interrupted (d) No improvement

90. Mr. Rahim is reputed to be a closed fisted man.
(a) claw fisted (b) close fisted
(c) clasped fisted (d) clawed fisted

91. Despite having many other opportunities, he
went for police service.
(a) liked (b) opted (c) selected
(d) no improvement

Directions for questions 17 to 19 : Out of the four
alternatives, choose the one which can be substituted
for the given words/sentence.

92. Fear of doctors.
(a) latrophobia (b) Phasmophobia
(c) batrachophobia (d) Nyctophobia

93. The loss of the ability to feel pain while still
conscious.
(a) Retort (b) Affliction
(c) Analgesia (d) Paranoia

94. A word or phrase that is used in conversation
but not in formal speech or writing.
(a) Dialect (b) Epithet
(c) Edifice (d) Epigram

Direction for question 20 : Four words are given in a
question, out of wich only one word is correctly spelt.
Find the correctly spelt word.
95. (a) Ventriloquist (b) Ventreloquist

(c) Vanteriloquist (d) Vantriloquist
Directions for questions 21 and 25 : In the following
passage some of the words have been left out. Read
the passage carefully and choose the correct answer
to each question out of the four alternatives and fill in
the blanks.

Cloze Test
The library, if used properly, is invaluable in helping

you develop discernment. It is rich 21 information that
goes far beyond the confines of any one text book or
course. 22 your text book author does not make a
particular 23 clear and you feel the need for another
description in greater detail 24 in other words, go to the
library and 25 other books on the subject. By calling upon
two or three writers dealing with the same topic, you will
find some clarification of certain facts.
96. (a) of (b) for (c) in (d) with
97. (a) if (b) while

(c) suppose (d) when
98. (a) information (b) explanation

(c) point (d) entry
99. (a) or (b) but

(c) though (d) however
100.(a) verify (b) collect

(c) identify (d) check

Answer key 9 mock
1. (b) 2. (c)  3. (c) 4. (d) 5. (a) 6. (b) 7. (d)  8. (c) 9. (d) 10. (d)

11. (a) 12. (b) 13. (c) 14. (b)  15. (c)  16. (c)  17. (a)  18. (d)  19. (d)  20. (b)
 21. (c)  22. (b)  23. (a) 24. (d)  25. (b)  26. (b)  27. (c)  28. (d)  29. (b) 30. (c)
 31. (a) 32. (c)  33. (c)  34. (a)  35. (b)  36. (a)  37. (d)  38. (d)  39. (b) 40. (c)
 41. (c)  42. (a)  43. (a)  44. (b)  45. (d)  46. (c)  47. (b)  48. (c)  49. (d)  50. (a)

51. (b)  52. (d)  53. (b)  54. (c)  55. (c) 56. (a) 57. (a)  58. (d)  59. (d)  60. (b)
 61. (a)  62. (b) 63. (b) 64. (a)  65. (a)  66. (c)  67. (b)  68. (d)  69. (b)  70. (a)
 71. (b)  72. (d)  73. (d)  74. (b)  75. (a)  76. (a)  77. (a)  78. (d) 79. (b)  80. (a)
 81. (d)  82. (a)  83. (c)  84. (b)  85. (b)  86. (a) 87. (d) 88. (a) 89. (b)  90. (b)
 91. (a) 92. (c) 93. (b)  94. (c) 95. (c) 96. (c) 97. (d)  98. (b) 99. (a) 100. (b)
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